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end 90 minutes on this part of the exam.

Directions: The questions Of incomplet
followed by five suggested answers or €0
« that best answers the question of complet

1. Following is a histogram of home sale
prices (in thousands of dollars) in one
~ommunity:

5o 75 100 125 150 175 200

Which of the following, conclusions is mOst
correct?

(A) The median price was $125,000.

(B) The mean price was $125,000.

(C) More homes sold for berween
$100,000 srd $125.000 than for over
$125,000.

(D) $10,000 is a reasonable esumate of the
srandard deviation in selling prices.

(E) 1.5 % 109 ($2) isa reasonable estimate

of the variance in selling prices.

AT VEEEESA

e statements that follow are each
mpietions. Choose the response
es the statement.

7. Which of the following is most useful in

establishing cause-and-effect relationships?

(A) A complete census

SRR EE

(B) A least squares regression line showing

high correlation

ik simple random sample (SRS)

(D) A well-designed, well-conducted survey

incorporating chance to ensure a
representative sample
(E) An experiment

3. JThe average yearly cnowfall in a city is 55
7 inches. What is the sandard deviation if

15% of the years have snowfalls above 60

inches? Assume yearly snowfalls are
normally distributed.

(A) 4.83
(B) 5.18
(C) 6.04
(D) 8.93
(E) The srandard deviarion cannot be

computed from the information given.

GO ONTO THE NEXT PAGE
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a48 AP Statistics

Consider the following parallel boxplots
‘3!1.71;‘;1@!‘:'_1 Fl'l'_' \L”‘HH‘;_’ '-1|..‘i!'i-,‘"“

15 20 25 30 35 40 45 50 55

Which of the following is a correct
conclusion?

(A) The ranges of the distributions are the
same.

(B) In each distribution the mean is equal
to the median.

(C) Each distribucion is symmetric.

(D) Each distribution is roughly normal.

(E) The distributions are outliers of each
other.

.‘?The mean Law School Aptitude Test

(LSAT) score for applicants to a particular
law school is 650 with a standard deviation
of 45. Suppose that only applicants with
scores above 700 are considered. What
percentage of the applicants considered
have scores below 7407 (Assume the scores
are normally distributed.)

32. If all the other variables remain constant,

which of the following will increase the
power of a hypothesis test?

I. TIncreasing the sample size.
[1. Increasing the significance level.
1. Tncreasing the probability of a Type 1l
Crror.

(A) Tonly

(B) Il only
(C) HI only

(in thousands
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A rescarcher planning a survey of school

‘ o . : :
srincipals in a particular state has lists of
t I i
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obrain a random sample of p:'iﬂ;ip.*lx from
each of the districts rather than grouping all
the lists together and obraining a sample
from the entire group. Which of the

following is a correct conclusion?

(A) This is a simple random sample obtained
in an easier and less costly manner than
procedures involving sampling from the
entire population of principals.

(B) This is a cluster sample in which the
population was divided into
heterogeneous groups called clusters.

(C) This is an example of systematic
sampling, which gives a reasonable
sample as long as the original order of
the list is not related to the variables
under consideration.

(D) This is an example of proportional
sampling based on sizes of the sch:
districts.

(E) This is a stratified sample, which may
give comparative information that a
simple random sample wouldn't give.

A simple random sample is defined by

(A) the method of selection.

(B) examination of the outcome.

(C) both of the above.

(D) how representative the sample is of the
population.

(E) the size of the sample versus the size of
the population.

Changing from a 90% confidence intﬂf"alf

estimate for a population proportion 0dz

999 confidence interval estimate, with
other things being equal,

: = & /
A) increases the interval size by 9%-

. ‘ . o
C) increases the interval size by 5/ Yo.

(

(B) decreases the interval size by 9%.
(

( 7%.
{

D) decreases the interval size by 2
)

This question cannot he answert

without knowing the sample $1Z2€
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lowing statements arc true’

Vhich of f the fol
o richt and lefr sides of a histogram are mirror images of each other.
the Jistribucion is svmmerric.
[RAS i
I1. \d]\“m 1N spre vl tar o che IM e side is said o be skewed 1o the [‘iwh[

L If a discribution is skewed to the righe, its mean is ofren greater than its

median.

(A) 1 (mh

-~ (B) land
(C) Land ] I]

) |
D) Il and III

~(B) None of the above gives the complete set of true responses.

—_

g Which of the following statements are true?

I. In a stemplot the number of leaves equals the size of the set of darta.
I1. Both the dotplot and the stemplot are useful in identifying outliers.
I11. Histograms do nort retain the identity of individual scores; however,
dotplots, stemplots, and boxplots all do.

(A) lTand 11
(B) Iand ]I
(C) Il and 1
(D)

I, I1, Jlld 111

E) None of the above gives the complete set of true responses.

-

' 1'he 70 highest dams in the world have an average height of 206 meters with

37

a Standard deviation of 35 meters. The Hoover Jﬂ(l Grand Coulee dams have
heights of 221 and 168 meters, respectively. The Russian dams, the Nurek
and Charvak, have heights with z-scores of +2.69 and —1.13, respectively. List
the dams in order of ns'cending size.

(AY Charvak, Grand Coulee, Hoover, Nurek
(B) Charvak, Grand Coulee, Nurek, Hoover
(C) Grand Coulee, Charvalk, Hoover, Nurek
(D) Grand Coulee, Charvale, Nurek, Hoover
(E) Grand Coulee, Hoover, Charvalk, Nurek

0. The first 115 Kentucky Derby winners by color of horse were as follows:
roan, 1; gray, 4; chestnut, 36; bay, 53; dark bay, 17; and black, 4. (You
should “bet on the bay!”) Which of the following visual displays is most

appropriate?
(A} Bar chart
(B} Histogram
() Stemplot
)Y Boxplat

) Time ploc
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e average score on a national test is 500 with a standard deviation

of 100. [f each score 1s increased by 23%. what are the new mean and stan-
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artiles Q; = 20 and Q; = 30, which of the following must be true?

I. The median is 25. ‘
II. The mean is berween 20 and 30,
[Il. The standard deviation is at most 10.

(A) T only

B) Il only

C) I only

D) All are true.
(E) None are true.

(
(
(

A 1995 poll by the Program for International Policy asked respondents what
percentage of the U.S. budger they thought went to foreign aid. The mean
response was 189%, and the median was 15%. (The actual amount is less than
190.) What do these responses indicate about the likely shape of the distribu-

tion of all the responses?

(A) The distribution is skewed to the left.

(B) The distribution is skewed rto the right.

(C) The distribution is symmetric around 16.5%.

(D) The distribution is bell-shaped with a standard deviation of 3%.
(E) The distribution is uniform berween 15% and 18%.

 Assuming that batting averages have a bell-shaped discribution, arrange in

ascending order:

[. An average with a z-score of —1.
[1. An average with a percen[ile rank of 20%.
I1I. An average at the first quartile, Q.

(A) LI, I
(B) 1L I, 11

(G 1§ T, 1l
(B 11, 111, 1
(E) I, 1L I
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3 The Childrens Health Tnsurance Program (CHIM pi‘m-'idc’s health benetits to
hildren from Families whose Incomes exceed the L'“gil\iht}' for Medicaid

CEET
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Yearly expenditures by state in millions of dollars

(2) What are the median and interquartile range of the distribution of yearly
state expenditures in the CHIP program?

(b) Suppose the federal government takes over three million dollars of admin-
istrative costs from che state CHIP expenditures. \What are the median and
interquartile range of the new reduced expenditure distribution?

(c) Suppose instead the federal government picks up the tab for half of all state
CHIP expenditures. What are the median and interquartile range of this

qew reduced expenditure discribution?
(d) Based on the above boxplet, which of the following is the most reasonable
xpenditure (in millions of dollars): 78, 135,325

value for the mean state €
630, or 7507 Explain.

4, JSuppose 3 distribution has mean 300 and standard deviation 25. 1f the z-score
o of Q, is -0.7 and the z-score of Q3 1s 0.7, what values would be considered to

be outliers?




Reponse Questions

rions: You must show all work and indicate the methods you use. You

'gradcd on the correctness of your methods and on the accuracy of your

Lﬁ Open-Ended Questions

Victims spend from 5 to 5840 hours repairing the damage caused by identity
theft with a mean of 330 hours and a standard deviation of 245 hours.

(2) What would be the mean, range, standard deviation, and variance for
hours spent repairing the damage caused by identity theft if each of the

victims spent an additional 10 hours?

(b) What would be the mean, range, standard deviation, and variance for
hours spent repairing the damage caused by identty theft if each of the

victims hours spent increased by 10%?

. In a study of all school districts in a state, the median 4-year graduation rate
was 78.0% with Q) = 60.4% and Q3 = 82.6%. The only rates below Q, or
above Q5 were 26.4%, 32.2%, 49.0%, 57.9%, 88.3%, and 98.1%.

(a) Draw a boxplort.
(b) Describe the discribution.

(c) Is the mean 4-year graduation rate probably close to, below, or above

78.0%? Explain.

(d) Would a stemplot give more, less, ar basically the same informaction?




